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1. The optimal bundle of the consumer is
indicated by

P
(B) MRS > &

P
(A) MRS =
Xy y

_X
PY

C) MRS <2 (D) MRS # 2

2. The concept of outside money was
introduced by 2.

(A) J. M. Keynes

(B) Gurley and Shaw
(C) Don Patinkin

(D) Milton Friedman

3. The inverted ‘U’ shaped hypothesis was
given by
(A) J. G. Williamson
(B) Simon Koznets
(C) Gunnar Myrdal
(D) G.S. Fields

4. Escheat is
(A) A Direct tax
(B) Anindirect tax
(C) A Grant-in-Aid
(D)-An Administrative Revenue

5. The monetary approach to the problem of
balance of payments deficit was 5.

. DIBPHTE e oReIaTTRD 0T LR

QIPVOWIE

A) MRS =25 (B) MRS, > =~

y
Py Py
(C) MRS, < 3 (D) MRS _ # P,

2P (335900 @9350 gTSRR (BaF0eI00
(A) J. M. 45,

(B) 0 5080w 2

(C) &8 53585

(D) 2098 p&SS

£°0005 ‘U’ es5°5 0050y550 300
(A) J. G. 200n5o08
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developed during @é’,)?éo)@ DEDE 30N

(A) 1950s (B) 1960s (A) 1950 o&° (B) 1960 o&*

(C) 1970s (D) 1980s (C) 1970 o (D) 1980 o¢°
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6. The rate at which Reserve Bank of India
lends to the banks is

(A) Cash reserve ratio

(B) Statutory liquidity ratio
(C) Repo rate

(D) Reverse repo rate

7. The largest cottage industry in India is
(A) Sericulture
(B) Handloom
(C) Pan masala
(D) Soap industry

8. Sustainable development seeks to

(A) Meet the present needs without
depleting the natural capital

(B) Meet the future needs at the cost of
present

(C) Meet the present needs without
consideration for the future

(D) Concentrate on the economic
development alone

9. The targeted growth rate of agriculture
during the Eleventh Five Year Plan was

(A) 3.5% (B) 4.0%
(C) 4.5% (D) 5.0%
10. Price elasticity of demand is given by the
formula
X dx p dx
A) ey =——.— B) ep ="~
(R) ep=—" s B =g
x dp p dp
C) e,=——.—7 D) e,=—-—
(©) & p dx (D) e, X dx

11. As the number of Explanatory variables
increases, R2 value will

(A) Remain constant
(B) Increase

(C) Decrease

(D) All of the above

10.

11.

WrOB0E ubgerosd oo J Bt $¢
LAVETDD FLND

(A) 555¢30 Jende IRY

(B) 56358305 (55585 D)

(C) oFden

(D) &x5y3F e

ETOBEE 9D $e56 DBER

(A) e 20

(B) 228 H0@E%0

(C) F&soro

(D) ey B0E

R0 3 B T edBotadiod

(A) d3te SoTre@Edo 00N EL0E® (DS
BT OB BN

(B) 5855707 Heon wed B eddTos
Bty

(C). 5558 Sorotio B0t SEITH &SiTei
BLYH

(D) E500 s8R B P Jo B0t

11 5 Do85¢ @eross” IGBotads Dgourabd
a3

(A) 3.5% (B) 4.0%

(C) 4.5% (D) 5.0%
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12. According to Marri’s model of the
managerial enterprises, the firm is in
equilibrium when it reaches the highest
point on the

(A) Demand-growth curve
(B) Capital-growth curve

(C) Balanced-growth curve
(D) Unbalanced-growth curve

13. Name of the organisation which has
launched the Free Trade Area (FTA) in

January 2002.
(A) SAARC (B) WTO
(C) ASEAN (D) UNCTAD

14. Ministry of labour of the Government of
India advised the State Governments in
February, 2004 to revise the minimum
wages for all scheduled employments not

below
(A) Rs. 76 (B) Rs. 66
(C) Rs. 96 (D) Rs. 46

15. Which of the following are the ‘axioms’ of
consumer theory ?

I. Completeness
Il. Reflexibility
lll. Transitivity

Codes :
(A) land Il only (B) Iland Il only
(C) land Il only (D) I, lland

16. The value of Money Multiplier is
determined by the

l. Currency ratio of the public

Il. Required Reserve ratio at the Central
Bank

lll. Excess Reserve ratio of Commercial
Bank

Codes :
(A) land Il only (B) Iland il only
(C) land Il only (D) I, land i

12.

13.

14.

15.

16.
l.

Il.
M.

OesiiTiSs 0L KBS ST (ES°C0, B ol
550 HoC0PP DOTYER DR SFogind”
OO0

(A) &sool - 9809

(B) Soregsnn - a0

(C) Sos0ds G0

(D) wo@ds 550

2355550 2002 & 25m)0TE @0z T B

éog

(A) SAARC (B) WTO

(C) ASEAN (D) UNCTAD
g8 (QDe0B5RH0 AE), B [So0BBT°P
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17.

18.

19.

20.

According to Lebenstein, the ‘Growth
Agents’ in the process of economic
development include the

l. enterpreneur Il investor

lll. saver IV. innovator
(A) land IV only (B) Iland Il only
(C) land il only (D) I, lland I

Which of the following are the methods of
repayment of public debt ?
l. Sinking fund
Il. Debt swapping
lll. Capital levy
IV. Fiscal drag

Codes :

(A) land Il are correct
(B) Iland Il are correct
(C) land Ill are correct
(D) llland IV are correct

Which of the following are the aims of
WTO ?

I. promotion of free trade

Il. protection of IPRs

lll. promotion of resource flow across the
countries
Codes :

(A) lonly (B) I'and Il only
(C) land Il only (D) I, 1land Il

Which of the following statements about
commercial bank is correct ?

l. 1t is . a monetary based business
organisation

IIl. -1t is a Unit Bank of RBI

[Il. It prints currency notes
Codes :
(A) land Il only (B) lonly
(C) land Il only (D) Il only

17.

18.

19.

20.
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l. 208k 8
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IV. §%500500)

§%&,

(A) 1558050 115859
(B) 1155600 Il 5359
(C) 1506500 1155859
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21. Industrial Licensing was abolished in 1991 | 21. 806 5¢331991&" :0F=208 B3y 6565
for the following DOBEPIO _
. Small scale industries g g)?&éd"js ~OE=00
o _ Il x50 e Sogen
Il. Multinational corporations 1. 50D eSS DOFS00
lll. Export-oriented industries SE.
(A) land Il only (B) Iland Il only (A)‘O|m5m”w@ﬁg
(C) llland I only (D) I, lland Il (B) 1'508a%0 S @a
(C) Nl 50800 | 55Ed0
22. Which of the following are the (D) 1, 11556055 I
characteristics of the second stage of
Demographic Transition ? 22, 208 T%38° Bodss @“’ooo 2I0PET® 0T (omoéé
. : OFETLD D 9
l. ngh Birth rate | B esmo 36
Il. Falling Death rate Il. %8’3@5&?3&68?@8@
lll. Growing the average size of family 1. 20000y $ea0e Hiéas HBKTENR0
Codes :
%, :
(A) land Il only (B) I, lland 1l (A) 1558015 11 5555
(C) land Il only (D) lland Il only (B) 1 508030 I
: . (C) I'558c% HsoEo
23. Whloh of the following statements about (D). 11 508050 1 57555
service area approach are true ?
. Itis a new strategy for rural lending | 23- §o0TE 26 W @708 AT H0w0fodud
II. It covers a cluster of villages in its 02083 22008050y55 ST 277500
operation 11,650 Q8557608 ([sTme {500TT0000:0 TR
Il Itis followed by rural and semi-urban | 5@??& TS S ey ot Tpes
branches of commercial banks. ;é‘o © o
oy
Codes : (A) | 208050 I SorEo
(A) land Il only (B) ll.and 11l only (B) 11508050 N 5@
(C) land lllonly (D) I, and Il (C) 130805 Il 5o
(D) 1, 508050 1
24. For a linearly homogeneous production
functlon Q=A-L*.K 24, 2.5 0erHA% GBS POBVDH
Ca+B=0 Q=A-L*KP
II. o+pB=1 . a+B=0
Il (AL, AK) = f (L, K) . 0<+B=1
V. f (AL, AK) = Af (L, K) f (AL, AK) =1 (L, K)
Codes : V. f (AL, AK) = Af (L, K)
(A) land lll are correct %, :
(B) land IV are correct (A) 1500050 e 566359
(C) Il and Il are correct (B) 12500030 1V & 200100
DY lland IV (C) 150850 Hleo 386300
(D) ITand 1V are correct (D) 11558015 IV e 266159
o A-05-03




25. A random variable 25. 2.5 aIriynE T3
l. is also known as stochastic variable . 5728 SeTrdre HQowednd
II. has well defined probability distribution . ﬁgéoom QESIODR 20ETRE DeT e300
lll. is also known as control variable SOMRRO
V. is also known as taraet variabl . DaXoEhes WoTe3me KHO0WICHR
' IS?SO own as farget vanable IV. oF 5 003 H3owest
Codes : o = =
3 H
(A) land Il are correct (A) 1558050 [l e 5805
(B) land Il are correct (B) 1508050 H e 5663550
(C) I, lland IV are correct (C) 1, 11555803 IV 00 5803559
(D) I, 1l and Il are correct (D) 1, 11250050 1@ 508350
26. Under which strategy there is one optimal | 26. 380 et 2% 535%0330‘53&305" ey,
choice for each player no matter what the semdd w8 wdodedon by O Yrgrod”
other player does ? ool \
. Dominant strategy i ol
. Il._ D090 $FPgseisas
Il. Mixed strategy 5 _
1. e00e3 oo
lll. Weak strategy SE. -
‘O -
Codes : (A) H 5@ (B) | 5@
(A) 1l only (B) | only (C) 15080 1l 537530 (D) 1, 11, 558055 Il
(C) Tand Il only (B) 1.1l andl 27. 588508 wosTdN SIEED oo
27. Which of the following is the custodian of EDETORVE I8 ?
foreign exchange reserves in India ? L 2gsoogesT . IS ergeH
. Finance Ministry 1l Exim Bank . RBI IV. MNCs
Il. RBI IV. MNGs 5;59; N ) e o
POOA((2) an POOA((2)
Codes : A ‘ B) ‘
(C) Nls=Edo (D) I, 508050 IV
(A) lonly (B) lLand Il only
(C) Ill only (D) I, 1lland IV 28. IGO0 S SHR G GG AGPER0K0
_ ¢ _ ErPoBODRE
28. Thg policy. of minimum s_upport prices of | BB B50esR0H STOHH0D K0S
agricultural goods is designed to 555 -
l. assure seasonable income to the I 35588 D0er050 HDodod e BSOS
farmers Pyroticio
Il. 'encourage farmers to produce food . 5538 GG DEREO[ Jaoowso
crops %, :
lll. prevent food prices from rising (A) | 520
Codes : (B) 11508050 550
(A) 1only (B) 1land Il only (C) 150805 Il 5o
(C) landlllonly (D) land Il only (D) | 208ams I Sogo
[N 8 A-05-03




The following questions consists of two
statements — one labelled as Assertion (A)
and the other as Reason (R). You have to
examine the statements carefully and
select the correct answer from the codes
given under the questions.

29. Assertion (A) : Any reaction of
competitors in oligopoly
market is bound to take
place after a considerable
time lag.

Reason (R) : The complexity of the
internal organisation of
oligopoly firms renders
decision-making a
lengthy process.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true, but R is not the

correct explanation

(C) Alis true, but R is false

(D) Ais false, but R is true

30. Assertion (A) : In terms of the labour
market analysis, Keynes
observed that in reality,
the wage rate is constant
at a certain level.

Reason (R) : Keynes observed that
the trade unions do not
agree to wage cuts
unless they are threatened
with loss of jobs.

Codes :
(A) A is correct, but R is not correct
(B) Ais not correct, but R is correct

(C) Both A and R are correct, but R is not
the correct explanation for A

(D) Both A and R are correct, and R is the
correct explanation for A

29.

30.

80t B (F Boc BEEDOH0 FDAHKD -
2,500 0 PSS (A) H5000E T 0
a0 (R). ©B%0d05 I EET 508900, B8
205 0§00 K00k DO HHTEHBIK0
DORE BDOT0B0

POFES (A) 1 8008 Vs’ Fedartho
WBoog), RSBy BASGS
SOS5S O B 0°5S
Q0gID08
w500 (R) 1 5028 R0g 0RO G0,
SOBS HERTEHE D 0338
R PO SREHEH00
D0 S0 HE3 IS
Sheoes
(A) A, R o0 Bocr Begio, A % R 5063050
D0
(B) A, ReoBocr d8gion, 520 A £ R 506305
D56 595
(C) A D355, 520 R edsgioo
(D) A ed8gson, 520 R d8gin

BOFEH (A) 1 ELENTT)ed Jier B0,
TS 2.5 0B Jrooo D¢
DB VD QUM 000
35, 50390

859 (R) : 45, 50305 (HFsCo @
DO éﬁsgm@ So0W
FORAOWE0 8BRS0
DO BI, 2 BAOYHOLHO
255y §°%

Shsoon

(A) A 2.5y, @00 R esdy 5950

(B) A ey 570, 520 R edy

(C) A, R o0 Boci> ey, 50 A £ R 0000

DRTED T°C
(D) A, Rex 8o 2y, A 55 R 580308 D:5er

Hie 9
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31. Assertion (A) : Schumpeter's theory of | 31. oS (A) 1 Soooeb SO0
economic Development i’ocz’oééaﬁoo ROULSTat)
isfnot ’g?el agmtjrtnhulation BOESENE 5°650, 9
of capital, but the -
introduction of s SR R0
innovations. s (R) PSRt DHSRB
Reason (R) : An entrepreneur would (226 IV
have the ability to SOAS)OLTE
introduce innovations.
Codes : 6 5 5
(A) Both A and R are correct and R is the (A) A, Reootoc ey, A R 589 005
correct explanation for A (B) A, Reodocr ey, 520 AL R S$8 D508
(B) Both A and R are correct, but R is not T2¢50
the correct explanation for A C) A R oy Boss s
(C) Both A and R are wrong (D) A’ vm og) R f‘y
(D) Ais correct, but R is wrong (D) Az, =0 R &
32. Assertion (A): The burden of direct tax | 32- BOPEH(A) 2 @858 D39  &rdIn
is not shiftable 2ITPON0TEID JLOTIE
Reason (R) : Direct taxes do not have woy (R) 1 (D8 D300 738
furthermarket transactions SOTPT O SONHOEY
Codes : Shsoen
(A) Both A and R are correct, but R is not (A) A, R o 3o ey, 520 A $ R 85869
the correct explanation of A NS¢5ey T93
(B) Ais correct, but R is wrong (B) A ey, =20 R &%y
(©) Egrtgg aer)](g |Zn2\rt(iao$10:>:‘e:t andRushe (C) A, RooBocir essy, A% R30610 25560
(D) Both A and R are wrong (D) A, Reotots sy
33. Assertion (A): Inthe recenttimes, there | 33- B3F0 (A) 1 5390 s0ol’, aross 364
has been a significant S5 Do’ KeadoXsapd
increase in the foreign 2 oSS HHESE
exchange reserves of 2
India. wEo (R) 1 3000508 HE00 03
Reason (R) : The process of (55, e
Globalisation has g < 9
provided incentives FEyrsons ool
forforeign directinvestment s -
Codes : - “
(A) Both A and R are true, but R is not the (A) A, R o0 Bocr e, 579 A £ R 50019
correct explanation of A Nilelci el
(B) Aistrue, but R is false (B) A2y, s R &y
(C) Aisfalse, but R is true - -
(D) Both A and R are true and R is the (C) Asiy, sOR e
correct explanation of A (D) A, Reodocor 2.y, A R D0A30S D568
o A-05-03




34.

35.

The need for commercial
banks to hold on to
excess cash reserves to
meet unanticipated
deposit withdrawals
has been greatly
reduced due to the
growth in the size of Call
Money Market.

Assertion (A) :

Reason (R) : Call money market will
provide required funds
to the banks at short
notice to meet the
unanticipated deposit

withdrawals.

Codes :

(A) A and R are correct and R is the
correct explanation of A

(B) Ais correct, but R is wrong
(C) Ais wrong, but R is correct

(D) A and R are correct, but R is not the
correct explanation of A

The Public ~Sector
undertakings in India
hae shown poor
performance.

Assertion (A) :

Reason (R) : Inefficient management
and political interference
are important reasons
for poor performance
of Public sector

undertakings.

Codes :

(A) Both A and R are correct and R is the
correct explanation for A

(B) Both A and R are wrong

(C) Both A and R are correct, but R is not
the correct explanation for A

(D) A'is correct, but R is wrong

34.

35.

BOFES (A) 1 Doy (INg SITCpeS
P00 MO DOD
GRITGRD GaJeen Y,
V08’5 Ly BoBoeIES
DDTH0 T DAL o5
AITer 50T Jedesg

aj°§o§>®o 2J°TV° éﬁow’w

s (R) P eRTERGRTD Been DY,
B0836S 5050 Ao
VOO Ny SITCes
CROSUURY &9 BED oo
Clelanblela

SPecsen

(A) A, Reoady, ADHR S0 508

(B) A 2.5y, 20 R &y

(C) A &5y, =0 Rasdhy

(D) A, Reo 25y, S0 A % R 500 2568 5°¢

BOFES(A)  : rOBDF0S” (Hess SoN
VOROY BN JITgTed
&)
K\J’”Zéo%"éﬁ)& EONDHR

859 (R) D Bags Aggres, Tresdold
55500 (A Solf Hoge
BES AGFTEd TR0
38T

§%, :

(A) A, Rexor ey, A RGOS 563

(B) A, R oo Bosy &5y

(C) A, Reo0odr edy, 520 A 5 RS0 D558
o0

(D) A ey, 20 R &5y

o
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36. Assertion (A) : According to Kuznets, | 36. @Or&0 (A) 1 &)y ©5°00, e08 Had
the relationship between emak Bobedd BoEFHR)
the income distribution X020¢50 7000k ‘U’ ess°to
and ﬁcgqar,ni(r:] grov&/th is SOR5)0L00
inverte shaped.

1ap s (R) 1 HONO Ao WOR O
Reason (R) : Asthe percapitaincome j _ o
increases, initial phase 2OOEOD BIITOER I
of increasing inequality BOLE BIRBOY) YOV
will be succeeded by a 5% 53308
phase I_of decreasing §E, :
Codes - Inequality. (A) A, ResBocr 89y
(A) Both A and R are wrong (B) A ez, =0 Ry
(B) Ais true, but R is wrong (C) Asdy, =20 Redy
(C) Ais wrong, but Ris true (D) A, Roodocr edy
(D) Both A and R are true
) o 37. HOFES (A) . 1 grSH0E0S” OB JBDH0

37. Assertion (A): Green Revolution in oo oty og,” «
India gave rise to ¢ Wowo N3y
productivity of different &TINCIEB0 20VIO
Crops. woop(R) 1 1960 o Sogisrood grosts

Reason (R) : During the middle of SO0 TG K5
1960s, Indian Agricultural = ST !
Scientists developed a D0 D0LOSS SrES VRS
number of new high @KOEJC%@EJQ SONGOSD
yielding varieties of DD DT
wheat and rice. s N

Codes : )

(A) Ais correct, but R is wrong (A) Aey, 520 R &3y

(B) Ais wrong, but R is correct (B) A 83y, 70 Redy

(C) Both A and R are correct (C) A, ReoBor ey

(D) Both A and R are wrong D) A, R oo Bocr &

2
38. Assertion (A): Slack variables are .
introduced in linear | 38 ®OXES(A) (35"(55@@ & (L5) weorimemo
Reason (R) : The inequalities in the 063
constraints are to be w0 (R) 1 900B008%) edsrSHen
converted into equalities. RGBT BRI
8\?"'2?1 but R is fal A
is true, but R is false “ 9
’ A) A Re&
(B) Ais false, but R is true EB; A;;?J’ R &;"y
(C) A and R are true, but R is not the o) A RQJ’ ng AR o
correct explanation for A (C) A, ReooBotir sy, A5 R 5000 J2de
(D) A and R are true and R is the correct S0
explanation for A (D) A, RenBocor 2y, A R &S80008 D96
ne A-05-03




39. Assertion (A) : In the presence of
heteroscedasticity the
method of least squares
is to be used, provided
the error variances are
known.

Reason (R) : Heteroscedasticity
destroys the
unbiasedness and
consistent properties of
OLS estimators.

Codes :

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true, but R is not the
correct explanation for A

(C) Aisfalse, but Ris true

(D) Ais true, but R is false

40. Assertion (A): Kaldor studies the
relation between growth
in population and growth
in income.

Reason (R) : Kaldor tried to test the
Malthusian contention
that the growth rate of
population is a function of
the rate of increase in
income.

Codes :

(A) Both A and R are true
(B) Both A and R are false
(C) Aistrue, but R is false
(D) Ais false, but R is true

39.

40.

BOFES (A) 1 EFRIB0e0 BAVDT, e
DOBB00 EByIPE
EJRITO DESB

n @

EOATATSD

s (R) P o DK, S0 T
DS GIoo%), IRETEE,
QO OFETORD

%, :

(A) A, Reodocsr 2y, A 55 R 803008 588

(B) A, Reovocir ey, A R S86308 D568
S0

(C) A &5y, Resdy

(D) A ey, Redy

BOFES (A)  : woers)gs, eTansyQs
SoFgie Doy 06

(35OIH0 BT
w0 (R) 1 2soegr DE0MIEOE0 esaroXd
MG P (ER00X00m D)
:55"@@35 ARV LI
5080t 50
BT
%, :
A) A 508000 R ey
B) A $080%» R &%y

C
D) A &35y, Reasdy

(A)
(B)
(C) A ey, Redy
(D)

o
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41.

42.

Assertion (A): Globalisation is closer
integration of the
countries and people of
the World.

: Revolutionin communication
technology and removal
of barriers to trade
accelerated the process
of globalisation.

Reason (R)

Codes :

(A) Both A and R are correct

(B) Both A and R are wrong

(C) Both A and R are correct and R is the
correct explanation for A

(D) Both A and R are correct, but R is not
the correct explanation for A

Assertion (A) : The adoption of farm
mechanisation in-agricufture
poses a great challenge

for India.

Reason (R) : The agricultural land
holdings are small and
fragmented that are not
conducive for farm
mechanisation.

Codes :

(A) Both-A and R are true but R is not a
correct explanation for A

(B) Both A and R are true and R is the
correct explanation for A

(C) Both A and R are false
(D) Aistrue but R is false

41.

42,

BOFED (A) 1 (EHoB BTeD, Heko SIS
D D50 DV HHDoVESE

Tasp (R) 1 SErTE oISy D550, HY
Q203500 SONOREO DO
(Do T D€ oY
DASOBRHD

%, :

(A) A S08050 R 25y
(B) A o0a%0 R #35%
(C) A00055 R 2y, A £ R 0000 956

(D) A 5600 Ry A S R 5061S 2566

SV

@OFS (A) 1 Sgsranoes’ airo@isses
BRF0QE0 grISBT S

S0 H0e38

s (R) P SgEIak SSomen DBy
GO, E50T° A0S
SOADNOCD QIToBAsses

@:63§7°®035°K§o SV

%, :

A) A, RooBocr exdy, A £ R 80520 558

(A)
(B) A, Reodocs 2y, A 55 R 803008 588
(C) A, Reodocr &y

(D)

D) Ay, R&dy

o
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43. According to the managerial theory of firm,
the correct order of management from the
top is

I. Top Management

[Il. Owner Share-holders
lll. Financial Managers
IV. Board of Directors

Codes :
(A) LILIV, I (B) 1,1V, 1,11
(C) IV, 1,1 (D) 11,1V, 11

44. |dentify the correct sequential order of the
following based on their liquidity.

I. Bonds and securities
Il. Demand deposits

lll. Time deposits
IV. Currency notes

Codes :
(A) LIV (B) 1, 1,1V, 1
(C) IV, 1IN, (D) IV, 1,11, 1

45. |dentify the correct chronological order of
the economists associated with
“Exploitation/Dependency theory”.

43.

44,

45.

203 Aes ATOBO (TS0, ATrwRTHS
$5002) OGS BES (50500
| €5y Qiresridgso
Il e egSog cdoesdoioen
lll. 9% dorgrsHes
IV. J8500 5507500

%, :
(A) LIv, I (B) 1V, 1
(C) v, Il (D) L1, 1V, 1

S00 T3 Ted (S95TRG WE O WE™ i)
R0 35858 EHTY OB
|, arody) DErgBedes
Il. &Smoc A
. &S5 Edmegen
IV, 582y Few

%,

(A, 11 11, 1V (B) 11,111, 1V, |

(C) IV, 1L, 11, 1 (D) IV, 11, 11l, |
“EPNE /e ReTosne” & Homogswn

SRR SOEIT @Ry, HBARS TOENTY
FOQOH0R

l. Frank
. §
Il. Baran I ggﬁ
lll. Furtado III: S
Codes : SE, ;
(A) 11111 (B) 1, 1,1 (A) 11,1 (B) 1L, 1Il, |
©) L (D) 1,1 (©) 1, 1,1 (D) 11,11
46. Arrange the following in the chronological | 4g. 8o T3 TS ToERT) @6 FotHnsEat
order L ©
l.“Expenditure tax . ééoxvoﬁ"go& o
IIl. Tax on railway passenger fares I sz Boreise Tho p S5y
llI.- Estate duty I g0 o085
IV. Service tax IV. o 559
Codes : %, :
(A) LILIV, (B) HL L1, 1V (A) LI, 1V, 1l (B) 1,1, 1,1V
C) 1m0V (D) IV, 1L 1,1 (C) 11,1, 1,1V (D) IV, I, 1, Il
o 15 A-05-03




47. Arrange the following Regional Blocks in
the order of their establishment.
. EFTA
. SAFTA
. ASEAN

Codes :
(A) LI (B) 1,1,
(C) L (D) L, 1,1

48. Arrange the following in the order of their
introduction.
I. Service Area Approach
Il. Financial Inclusion
lll. Lead Bank Scheme

Codes :
(A) LI (B) M, 11
(C) L (D) 11, 11,1

49. Arrange the following in chronological
order.
l. District Industries Centre
Il. Monopolies and Restrictive Trade
Practices Act

lll. Industries Development  and
Regulation Act

Codes :
(A) 1, 1L (B)- 11,11, |
(C) 1, 1,1 (D) L,

50. Identify the correct order of States based
on the poverty ratio in 2004—05.

Codes :

(A) Andhra Pradesh, Karnataka, Kerala,
Tamil Nadu

(B) Karnataka, Andhra Pradesh, Tamil
Nadu, Kerala

(C) Andhra Pradesh, Kerala, Karnataka,
Tamil Nadu

(D) Andhra Pradesh, Karnataka,
Tamil Nadu, Kerala

47.

48.

49.

50.

808 @odoh FErems T DTme E57°) e
POLSIDE B[

. EFTA
. SAFTA
. ASEAN
%, :
(A) 111,10 (8) 1, 11,1
(C) 1 (D) N1
BE20635 E5 6] $ob T3 LoD EHD
. 20 (P08 eS8
Il 28 2OASes
lll. && e w580
%, :
(A) 1,11, 1l (8) 1,111
C©) 1 n (D) 1,1, 1

208 %3 TP EH08° FPotrdEBoH0
| 2e H0E3e Soso
Il QETERge0, ©9050R) TS 85 19630
. r0E~g @BQ D0k Jaoges
56950

%, :
(A) 1L Ln (B) 1L, 11,1
(C) I, 1,1 (D) L0,

2004-05 & 2508 IR esgroon oape
BOAD ESR DYoo

%, :

A) e0GS0E, SoE, B8, BATTE0

B
C

EOP)E05, 50500, BHAFTCD, SE

(A)
(B)
(C) e300, ST, Ho)eo%, HAFTED
(D)

D) 5050, S0)e0%, BT, S6

Hie 16
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51. Select the correct order of the following
based on the size of the Service Area.

l. Primary Co-operative Bank
Il. State Co-operative Bank
lll. Central Co-operative Bank

Codes :
(A) LI (B) HI, 1,1
(C) L (D) L, 1,1

52. Arrange the following concepts in the
order of their use in Input-output Analysis.

l. Output Vector (Matrix)
Il. Transactions Matrix
lll. Technological Matrix
IV. Technological Coefficient

Codes :
(A) LIV, I (B) I, IV, 1,1
(C) n, L v (D) IV, 1L, 11

53. Arrange the following concepts in which
they are used in econometric analysis.

l. Identification problem

Il. Reduced form coefficients
lll. Rank and order conditions
IV. Structural coefficients

Codes :
(A) LIV (B) NI, 1,1V, 1l
(C) IV, 1,1 (D) IV, 1, 1,11

54. Arrange the following in the order of their
occurrence in the multiplier process.

|. Current level of Income
IIl. Additional Investment
. New Equilibrium
IV. New level of Income

Codes :
(A) IV, 1,10 (B) IV, 11,11
C) L, v (D) L LIV

51.

52.

53.

54.

Vo D139 92063 808 3 ooy, SO
EST0) doE Dabod
. DERWE 5SS ergotd

Il. TROTS0 &0
lll. Boigs 55758 2o

%, :
(A) L (B) 11,1
(C) L (D) Hi L1

T -€a80 JEHesd” €A ENTed
208 gFBHORO FPoIHSVIRD
| &8)8e Dess) ST (STDE)
. o"rode P
ll. Sroddsee SoHs
IV. rc3&E rhesseen
O
(A) 1L 111V, NI (B) 11,1V, 111, |
(C) 1,10, 1V (D) IV, 11, 1, 1l
©0EG JFead ERAIPACD ERrYed $od
LTSRN POIBSBORD
| 1005 BikoRdg
Il. Moedsro BRo) esHd
lll. %3, g0 Heoeo
IV. Jooezeys roesseen

%, :
(A) LIV (B) 1,1 v,
(C) NV, Il (D) IV, 1L, 1, 1

oe¥o BEANS” Sy ENrd) eed Eodmedd
SPOCSIHESEIH

l. @08 ﬁgoao e5TIPO0RD
Il e9¢5:5:) 2eecs

. Soesd bb&@”eJ?SZéJJ

V. Sored @;ooo €833

SE,
(A) IV, L L (B) IV, 1L 1,1
©) L, v (D) 1L 1L NV

Hie 17

A-05-03




55. ldentify the correct chronological order in
which the Indian Rupee was linked to
various currencies.

(A) Pound sterling, Basket of currencies,
Dollar

(B) Dollar, Pound sterling, Basket of
currencies

(C) Basket of currencies, Dollar, Pound
sterling

(D) Pound sterling, Dollar, Basket of
currencies

56. Arrange the following in the chronological

order.
l. Agricultural Prices Commission
Il. Foodgrains Prices Committee
lIl. Commission for Agricultural Costs

55. DS Z00y08 a7E® Srraandpty ekonom)
£263 DOAWD FHTR) MGoBIBD

(A) ok K00h, $oe BRTEn, Tob

(B) @b, ok H0oh, S3Rye $8arTHH0

(C) 0o $arirswn, Tob, Fok $60h

(D)

D) Fo& 300h, b, 0y SHardHs

56. 5eoENTYeed (o8 aredd FotoDGEND
|, S5oRra ¢5o0 52563
Il 5555 55090 G580 E20e3

lll. S50 35030700, G 063

and Prices g & :
Codes : (A) I, 1, 11 (B) II, Il |
(A) 111,111 (B) 1,11, 1
(©) 1L, 11,1 D) 1, 11, 1i (C) 11,1 (D) LA
Note : Match List — I with List — Il and select |/ S798 1 o8 &rdizre 306 $0010 00 S
the correct answer from the codes €20IAO 23BATVR0
given below 57. - e — I
57. List—1I List—1I a) erod PATEd JFde 1. LAY
a) Marginal utility 1.. Behaviourist 52050830
analysis cardinalism b) e&mhs & I35 2. &% 2a0Y
b) Indifference curve 2. Behaviourist 038592355
analysis ordinalism 0) (553 D Des 3 ag’w%ég
c) Revealed preference 3. Introspective °
analysis cardinalism gR0es
d) Modern utility theory 4. Introspective d) eQods pares Jue 4. 9SETRES
ordinalism S SEUSNY
Codes : &y
a b c¢c d a b c¢c d
(A)3 4 2 1 (A)3 4 2 1
B3 2 4 1 B)3 2 4 1
©c1 2 4 3 C)1 2 4 3
)3 2 1 4 D)3 2 1 4
[N 18 A-05-03




58. List-I List-II 58. =D —| =D -l
a) Dudley Dillard 1. Keynesianism — a) adcob 1. 8555085 - Bera2E,
Retrospect and oo
prospect ol NS
b) R.F.Harrod 2. The critics of ) @6.39,508 2. &Eed&yesH IS
Keynesian DETE,
Economics
o) Henry Hazllt 3. The life of John| © T&¥&0 3. 080ebeianmpis
Maynard Keynes d) Cﬁ?,JJ?S. oS, S 4. @)Q§U"§b§‘o esH 8. a0,
d) W.H. Hutt 4. The Economics of J.M. &5,
Keynes SSE. -
Codes : D
a b c d a b c. d
(A)1 2 4 .3
A1 2 4 3
B)4 .2 3 1
B4 2 3 1
C) 4 3.2 1
C) 4 3 2 1 0) g~ 1
D)3 2 4 A
59. List—| List—II A el
a) Learning by doing 1. Adam Smith a) SRSDoer 3SRl wEh 58
b) Division of labour 2. J.R. Hicks b) 50 Jevesis 2. 8.e0.2%,
c) Stationary State 3. K.J. Arrow C) B8 3.3.8.¢0
d) Technical progress 4. J.S. Mill d) ©°o§e‘9§@ﬁe‘.’9 4. 8. 003, W6
Codes : §%,
a b c d a b c d
TR
€)1 2 3 4 Ba 8 21
03 1 2 4 C1 2 3 4
D)3 1 2 4
60. Which of the following is not correctly
matched ? 60. Eod TeIE" HOM eBSHIB IO 9
(A) Gadgil formula — Planning Commission (A) meS e - SETES %0500
(B) Calamity Relief —Union Finance "
Fund Commission (B) Serdoed 895 50& —Bos 28 oo
(C) State Finance —73“and 74"
Commission Constitution (C) ogog oo — 735 2000 745
(Amendment ) Act go@néofq(sggim) 3620
(D) Imposition of  — State Government
service tax (D) 2230 — TR BadTTen
no 19 A-05-03




61. List-I List-1I 61. =Do—| P A I |
a) Infantindustry argument 1. Adam Smith a) 35 D05 TS 1. 550 05
b) $ﬁc;t§rrepr:ce equalisation 2. Haberler b) S a5 S ss %%ooém o :;oaagé
c) Opportunity cost 3. Fredrich List C) ©RS™ 50 SR 3. GOS8

principle d) DE0E D00 eored 4. TS0
d) Absolute cost 4. Samuelson 5. & 65°G

advantage 5. David Ricardo §%, :

Codes : a b c d

a b ¢ d A1 5 3 2

(A1 5 3 2 B2 1 5 4

B2 1 5 4 C)3 4 2 A1

C)3 4 2 A1 D)4 2 1 3

D)4 2 1 3

62. List—I List—1I 62. wow- =l

a) K.S. Krishna Swamy 1. Working of Indian 8) K-S g S ;Z?C;w G0
Committee Monetary System ~ ~

b) Narasimhan Committee 2. OnSite Supervision b) 5h070 0] 2. 33% =g eros0

of Banks _ SO

c) S. Padmanabhan 3. Priority Sector C) S.SGTHSROON (TS 3. e Sorre
Working Group Lending 220089 S0

d) Chakrabarthy 4. Profitability of Public d) 5598 520¢3 4. 58850 ergoHe
Committee Sector banks OYITODED
Codes : &,

a b c d a b c d

A2 3 1 4 A2 3 1 4
B3 4 2 1 B)3 4 2 1
Cc4 2 3 1 C)4 2 3 1
G)1 3 4 2 D)1 3 4 2

63. List-1I List—1I 63. =Dz -1 At ||

a) R.K. Hazari 1.. Committee on Public a) esb. 3. Terd 1. Qg0 So 500 2
Enterprises E0e3 ° T
b) C. Ranga'Rajan 2. M.R.T.P. Act b) . SororesS 2. (M.R.T.P)
¢) OmkarGoswami 3. Industrial licensing 0505505563, % 563553
d) Arjun Sen Gupta 4. Industrial sickness C) Lo A 3. %05 @?oi)@oﬁ@
5. Disinvestment of d) 085S Ko 4. FOE-D0% sro0ow
shares B2 - PRI
S, Y €0 Do5eTER
Codes : §E, :
a b ¢ d a b ¢ d
(A3 5 4 1 A3 5 4 1
B5 2 1 4 B)5 2 1 4
€3 2 4 1 C)3 2 4 1
b4 3 2 1 D)4 3 2 1

o 20 A-05-03




64. List—1

a)

b) Infant age group

¢) Youth population

d) Young population
Codes :

a b ¢ d
A3 4 2 1
B4 2 1 3
)4 2 3 1
b)y1 3 4 2

65. List—1
Agriculture Input

a) Fertilizer

b) Electricity

c) Irrigation

d) Other subsidies
Codes :

a b ¢ d
A4 3 1 2
B3 4 2 1
1 2 3 4
(D)2 3 4 1

66. List—1
(Techniques)

a) Differentiation
b) Integration
c) Input-output analysis

d) Linearprogramming 4.

Codes :

a b ¢ d
A2 1 4 3
B3 4 2 1
4 3 1 2
b)y1 2 3 4

Reproductive age-group 1. 15 — 24 years

1. 20.61
2. 47.60
3. 17.08
4. 14.71

List-II

2.0—-1year
3. 15— 35 years
4. 15 — 44 years

List—1I
Subsidy during
2008-09 (%)

List -1l
(Applications)
1.-Consumer surplus
2. Elasticity
3. Optimisation
subject to
constraints
Inter Industry
relationships

64. =z -1
) HVHTHHE 5Ty

b) 3555¢5% Dy

C) erogss (Qbors) esver 3.

d) a7 ¢5% (ooh) e 4.

%, :

a b ¢ d
A3 4 2 1
B4 2 1 3
4 2 3 1
d)y1 3 4 2

65. =z —|
gAY GO
a) dSoHe0
b) 5)&5355%_%
C) RedTocse
)

d). 386 (g5 SFAPD

a b ¢ d
A4 3 1 2
B3 4 2 1
1 2 3 4
(D)2 3 4 1
66. - |
a) eHs50 1.
b) SX3rEwdo 2.
C) &TRNSS-&dnd Jader 3.
d) DEPTS (DTS 4.
§%, :
a b ¢ d
A2 1 4 3
B3 4 2 1
)4 3 1 2
b)y1 2 3 4

-l

1.15-24
QOENT D
2.0 — 1305800
15-35
QOENT D
15-44
QOIENTLD

At ||
2008-09 &°
DTPIEIRHR0

1. 20.61%
2. 47.60%
3. 17.08%
4. 14.71%

-l

DIBIHTED A0
TE VG0
0BV EPGD
esDoDe3aS

OB HOEI0
0205

o
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67. Which of the following is not correct ?

(A) Classical range — Monetary policy

(B) Neo-classical range — Income policy

(C) Keynesian range — Fiscal policy

(D) Intermediate range — Both fiscal and
monetary

policies

68. Which one of the following is not correctly

matched ?

(A) B.K. Keayala —Explicit concensus
(B) Marakesh declaration — Patent Laws
(C) Dunkel declaration — Tariffs and Trade
(D) Doha declaration — Social clause

69. Which one of the following is not correctly

matched ?

(A) Agriculture — Green Revolution
(B) TRYSEM - Self Employment
(C) MGNREGS - Wage Employment

(D) IRDP — Urban Basic Services
70. Which one of the following is not correctly

matched ?

(A) G.Myrdal — Asian Drama

(B) KarlMarx — Das Capital

(C) Kuznets — Strategy of Economic

Development

— Problems of Capital
formation in Under
Developed Countries

(D) Nurkse R.

Para - Phrasing

(Q. 71 -75) : Answer the questions from 71 to
75 by reading the following passage

Major Pillar of the Post- Washington Consensus
is the identification of poverty reduction as an
immediate objective of development assistance
rather than a consequence of the economic
growth the assistance is designed to stimulate.
By nature, market competition is a strong
instrument for increasing economic efficiency
but not an instrument for improving equity. If

0
67. 200 TS D058 D&
(A) DOETPO0 T T — (G555 D[
(B) 555 00Emroiimron 7y — esrod
DT
(C) £5ymrgy— 5% dpisisao
(D) B¢y BE7 ag@ — (¢5555 500000 5% Awres
[elela®)

68. 200 738" DO 2BHGHIS D& 92
(A) £.3.30%r0  —
(B) o888 — 263oe Wwegen

(C) &0 (85 — RoosPen Ha80Kw SE¥o
(D) &

D) &% (95— 3‘25?855"%53&)

S5 OToNSERH

69. 200 T%3S° LSO BHBEDNEIE DO 92
(A) B59aro0sn — D08 JBHH0
B) TRYSEM - &obo elghs

(B)
(C) MGNREGS — 2% &f3h%
(D)

D). IRDP — 06e0 HTVE “wden
70. $00 7" $85°08 28 9

(A) 100 DTS — D00HS (T

(B) 56578,y — mRsowd

(C) @el — Jeos & o5 s
GRODR0LT

(D) %6, yeb. — Ra e TS TOIS
35 305 GO o3

Para - Phrasing
108 1 (Sod TR0 WA, 71 300G 75 5565 Dy
(DB 23372000 @POI0[00
20235 205 €55 &3 FHTDONS VTRTTO @088 T00d”
sgTRNRS (085 SDy0ie0 5083 0050 BiMxsed e
& Q700 A3, D850 f sone oo edhod.

RO, OSPIER)) DOTOB0HE0 08 SHagsi
PoFoloD HOETo $7°0)eF 239 2,7%‘1)05 &o
23MHBI0R. OZ0 BIRE 30 ©F sor grAoNIED,

50705 TR0 ©90DS el oS ekasreorn

o
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poverty reduction is considered an overarching
immediate objective, non market instruments
may have to be used to redistribute market-
produced income in favour of the poor. More over,
if poverty is viewed not simply as receipt of a
less than socially allowable minimum
subsistence income, but also as a restrictions
in human capability, in the sense used by
Amartya Sen, then social services such as,
education, health and social safety nets must
be delivered to the poor through non-market
channels. Linking these two pillars brings to the
fore the importance of non-market institutions
such as Government and Civil society.

71. What is the objective of development
assistance during post Washington
consensus period ?

(A) Employment generation
(B) Poverty reduction

(C) Social Justice

(D) Promotion of health

72. Market Competition promotes
(A) Equity

(B) Education

(C) Efficiency

(D) Environmental quality

73. How does Amartya Sen define poverty ?
(A) Failure to get required income

(B) Failure to get required food

(C) Failure to get adequate calories

(D) Restriction in human capability

What are the social services ?
(A) Education

(B) Health

(C) Social safety nets

(D) All the above

74.

What are the non market institutions ?
(A) Religion (B) Government
(C) Civil society (D) BothBand C
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